

## Adding Integers (E)

Use an integer strategy to find each answer.

$37 + 2 =$

$(-68) + 26 =$

$(-7) + 81 =$

$(-22) + 4 =$

$(-47) + (-48) =$

$27 + (-42) =$

$6 + (-26) =$

$(-64) + (-96) =$

$36 + (-28) =$

$65 + (-86) =$

$84 + 56 =$

$(-13) + (-38) =$

$(-29) + (-40) =$

$(-58) + 78 =$

$86 + 55 =$

$27 + (-20) =$

$84 + 15 =$

$38 + (-83) =$

$(-39) + 98 =$

$36 + 21 =$

$47 + (-34) =$

$(-3) + (-43) =$

$(-30) + (-87) =$

$35 + 2 =$

$37 + (-88) =$

$(-63) + 53 =$

$28 + (-66) =$

$(-63) + 57 =$

$(-12) + (-25) =$

$(-17) + (-10) =$

# Adding Integers (E) Answers

Use an integer strategy to find each answer.

$$\begin{aligned} 37 + 2 &= \\ &= 39 \end{aligned}$$

$$\begin{aligned} (-68) + 26 &= \\ &= (-42) \end{aligned}$$

$$\begin{aligned} (-7) + 81 &= \\ &= 74 \end{aligned}$$

$$\begin{aligned} (-22) + 4 &= \\ &= (-18) \end{aligned}$$

$$\begin{aligned} (-47) + (-48) &= \\ &= (-95) \end{aligned}$$

$$\begin{aligned} 27 + (-42) &= \\ &= (-15) \end{aligned}$$

$$\begin{aligned} 6 + (-26) &= \\ &= (-20) \end{aligned}$$

$$\begin{aligned} (-64) + (-96) &= \\ &= (-160) \end{aligned}$$

$$\begin{aligned} 36 + (-28) &= \\ &= 8 \end{aligned}$$

$$\begin{aligned} 65 + (-86) &= \\ &= (-21) \end{aligned}$$

$$\begin{aligned} 84 + 56 &= \\ &= 140 \end{aligned}$$

$$\begin{aligned} (-13) + (-38) &= \\ &= (-51) \end{aligned}$$

$$\begin{aligned} (-29) + (-40) &= \\ &= (-69) \end{aligned}$$

$$\begin{aligned} (-58) + 78 &= \\ &= 20 \end{aligned}$$

$$\begin{aligned} 86 + 55 &= \\ &= 141 \end{aligned}$$

$$\begin{aligned} 27 + (-20) &= \\ &= 7 \end{aligned}$$

$$\begin{aligned} 84 + 15 &= \\ &= 99 \end{aligned}$$

$$\begin{aligned} 38 + (-83) &= \\ &= (-45) \end{aligned}$$

$$\begin{aligned} (-39) + 98 &= \\ &= 59 \end{aligned}$$

$$\begin{aligned} 36 + 21 &= \\ &= 57 \end{aligned}$$

$$\begin{aligned} 47 + (-34) &= \\ &= 13 \end{aligned}$$

$$\begin{aligned} (-3) + (-43) &= \\ &= (-46) \end{aligned}$$

$$\begin{aligned} (-30) + (-87) &= \\ &= (-117) \end{aligned}$$

$$\begin{aligned} 35 + 2 &= \\ &= 37 \end{aligned}$$

$$\begin{aligned} 37 + (-88) &= \\ &= (-51) \end{aligned}$$

$$\begin{aligned} (-63) + 53 &= \\ &= (-10) \end{aligned}$$

$$\begin{aligned} 28 + (-66) &= \\ &= (-38) \end{aligned}$$

$$\begin{aligned} (-63) + 57 &= \\ &= (-6) \end{aligned}$$

$$\begin{aligned} (-12) + (-25) &= \\ &= (-37) \end{aligned}$$

$$\begin{aligned} (-17) + (-10) &= \\ &= (-27) \end{aligned}$$